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Valuation of Goodwill 215

resgect'ive allotted weights, say 1,2,3,4 and so on in order to find out the product.
This product is then divided by the totai number of weights for calculating the
Weighted Average Profit. .

//Thus the Weighted Average Profit is multiplied by number of years’ purchase in
order to ascertain the value or.amount of goodwill.

Suitability: This method is preferred when there is rising trend of profits. The
method is summarised as :

b Total Product of Profits or Total Wei t
‘Kighted Average Profits = rolits or lo eighted Profits

Total Numbeér of Weights
@ \/v e of Goodwill = Weighted Average Profit x No. (;?%ars' Purchase
‘ ? —~ 0’{ ~~n e N"”'»

llustration 4  (Purchase of Weighted Avérage Profit Method)

A Ltd. proposed to purchase the business carried on by M/s X and Co. Goodwill for
this purpose is agreed to be valued at three years’ purchase of the weighted average
profits of the past four years. The appropriate weights to be used are:

Year Weight Profit
2010-11 I 1,01,000
2011-12 2 1,24,000
2012-13 3 1,00,000
2013-14 4 1,40,000

On a scrutiny of the accounts, the following matters are revealed :

(i) On 1 December 2012 a major repair was made in respect of the plant
incurring ¥ 30,000 which was charged to revenue. The said sum is agreed
to be capitalised for goodwill calculation subject to adjustment of
depreciation of 10% p.a. on reducing balance method.

(ii) The closing stock for the year 2011-12 was overvalued by ¥ 12,000.

(iii) To cover management cost, an annual charge of ¥ 24,000 should be made
for the purpose of valuation of goodwill.

Compute the value of goodwill of the firm. [B.Com. (Hons.) Delhi]

Solution
1. Calculation of Adjusted Profit

(a) Profits for 2010-11 : 1,01,000

Less: Management Expenses 24,000

Adjusted Profits for 2010-11 77,000

(b) Profitfor2011-12 1,24,000

Less: Management Expenses 24,000

1,00,000

Less: Overvaluation of Closing Stock . 12,000

Adjusted Profit for 2011-12 88,000

(c) Profits for 2012-13 1,00,000

Less: Management Expenses 24,000

76,000
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as per annuity method is as under:

f ; =
, / r
| -{5g)
E / Ao N7
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!: 100

' | Where A = the present value of annuity forTr= normal rate ol

= the number of years

ﬁ;] APITALISATION OF SUPER PROFIT METHOD
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Under this method, the value of goodwill is arrived at by capitalising the super profit.
at the normal rate of return. In other words, this method attempts to determine the

amount of capital needed for earning super profit. The formula is:

I

Average Annual Super profit

Goodwill =
Normal Rate of Returns

Suppose the super profit is T 2,50,000, the normal rate of profit is 10%, the goodwill
as per capitalisation of super profit method is : N

4 2.50,000 x 100 N\
3 ‘ - = 25,00,000 \\\

llustration 6 (Number of Years’ Purchases of Super Profit)

The following account balances have been extracted from the books of X Ltd as at 31

March 2013 :
Credit T | Debit E4
8% 5,000 Preference Shares Goodwill 10,000
of T 10 each 50,000 |Fixed Assets 1,80,000
10,000 Equity Shares of * [nvestments 20,000
T 10 each 1,00,000 |(5% Government Loan)
Reserves (including provision Current Assets 1,00,000
for taxation ¥ 10,000) 1,00,000 |Preliminary Expenses 10,000
8% Debentures 50,000 |Discount on Debentures 5,000
Creditors 25,000

3,25,000 325,000

The average profit of the company (after deducting interest on debentures and taxes)
is T 31,000. The market value of the machinery included in the assets is % 5,000 more.
Expected rate of return is 10%. Calculate the value of goodwill at three times of the
super profits. [B. Com. (Hons.)]
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